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Reading Comprehension
Directions: Read the following short statements/ passages and answer the questions hy

choosing the best choice (1), (2), (3), or {4). Then mark the correct choice on your
answer sheel.

SHORT STATEMENTS:

51- A rock is said to be porous if it possesses cavities between the mineral grains making up
the rock which can contain liquid. The term porosity ratio is given to the percentage of
——————————————— that a rock contains.

1) void space 2) water 3) mineral grains  4) particles
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52- Soil is regarded by the geologist as the --——--—-—-——-- of loose weathered material which
covers much of the land surface of the earth.
1) accumulation  2) differentiation  3) precipitation 4) deposition
53- Laminar flow is characteristic of low velocities, and particles of sediment in the flow zones
are moved by -=--====s=aaaex or saltation.
1) running 2) rolling 3) jetting 4) jumping

PASSAGE I:

In 1927 Cushman introduced the genus Globotruncana into which until the early 1940s
all trochospiral. single and double keeled cretaceous planktonic species were placed. A
large number of taxa, distinguished by number and position of peripheral keels, shape
of test and number and shape of chambers, were included in this genus. Other
distinguishing criteria like position and category of apertures, additional structural
elements like tegilla and portici were at that time not yet taken into consideration for
taxonomic subdivision. A number of Globotruncana species were also described in thin
sections from limestones. General test shape and number and position of peripheral keels
are readily identifiable from section but not the position of apertures and the presence
ol supplementary and accessory structures which later became used for generic
distinction.

54- What is the present condition of the identification of Globotruncana?
1) The majority of taxa are identified in thin sections.

2) Most of the oriented thin sections of Globotruncana show the accessory structural
elements.

3) A great many of the features are described in thin sections.
4) The comparison of specimens in sections with isolated forms is often Problematic.
Which of the following statements contradicts the information given in the passage?
1} Globotruncana is an index taxon for cretaceous deposits.
2) Globotruncana is in generic level.
3) Globotruncana is a species taxon introduced by Cushman.
4) Globotruncana is a taxon identified by test, aperture and ornamentation features.
56- Which of the following features are the most important for eretaceous planktonic species?
1) The shape of test. champers, aperture as well as supplementary and accessory
structures
2) Chemical composite of test
3) Position and type of apertures as well as supplementary structural elements
4) Ornamentation of the test and additional structural elements

o
?I

PASSAGE 2:

The luster of a mineral is described by comparing it to familiar substances. The most
important type is glassy or vitreous luster, which gives a substances a glazed appearance,
like glass or porcelain. Less common is an earthy luster. This resembles the surface of
unglazed pottery and is characteristic of the various clay minerals. Some uncommon
lusters include resinous luster, silky luster. and pearly luster.
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60-

Which of the following does NOT refer to the luster of a mineral?

1) Color 2) Streak 3) Scratchability ~ 4) Light refraction
What quality of a luster can be determined objectively?

1) Color 2) Shininess 3) Crystal form 4) Cleavage
Which of the following is very shiny?

1) The quartz 2) The micas

3) A broken piece of iron 4) The various clay minerals

Which factor determines the luster of a mineral?

1} The surface of substances 2) An internal order of a crystal

3) The tendency of a mineral to break  4) Scraping the edge ol'a mineral

PASSAGE 3:

The impact of major construction projects on existing geological features may result in

unforeseen and disastrous consequences. This is illustrated by one of the worst dam

disasters in history which occurred at the Massa Dam on 1 April 1958 only two years
after the dam had opened to international acclaim as one of the great engineering
achievements of the 20th century. Designed to supply electricity for the region's
developing industrial sector and irrigation for the farmers of the arid Lower Massa
Basin. the Massa project had taken seven vears to complete. It took only seven minutes
to collapse as an enormous landslide consisting of over 180 million cubic meters of rock
tumbled down the right bank and fell into the reservoir behind the dam wall. The
landslide created a 250 meter-high wave preceded by a compressed-air blast which
entered the interior workings of the dam, smashed the wall abutments and destroyed all
control systems. As the wave poured down the valley, it swept away three high-level
bridges and obliterated the town of Sesai. killing its 1000 inhabitants. The wave was still
50 meters high when it reached the Kere River over two kilometers away.,

The Massa disaster bore a striking resemblance to the Ryshkvk tragedy of 1949 when
500 people had been killed by a wall of water which had overtopped the dam abutments
following a 100,000,000 cubic meter landslide. Both the Massa and Ryshkyvk dam
locations presented similar geological features: voung folded limestone mountains with
steeply tilted slopes offering no resistance to gravity sliding.

The commission of enquiry set up to investigate the causes of the Massa disaster
heard that although Wolf Mason, the building contractors, had been aware of the
findings of the investigations carried out after Ryshkvk. they had disregarded two
recommendations made by the Ryshkyk commission of enquiry's report. The report had
concluded that the Ryshkyk design engineers had been foolhardy to locate the dam in
an area of permeable rock characterized by fractures. The Ryshkyk report also noted
that the abutment measurements - a height of 20 meters above maximum reservoir
elevation, and a thickness of 10 meters - should have been doubled.

At the Massa enquiry, Wolf Mason's engineer, Dr. H. L. Ruiq. claimed that the
presence of 50-metre deep clay marls underlying the limestone at Massa invalidated the
relevance of the Ryshkyvk recommendations, while the increased height and width of the
Massa abutments, though not double those recommended by the Ryshkyk' enquiry, were
sufficient for the lower maximum reservoir elevation existing at Massa. The Massa site,
he added, had been thoroughly surveved and provided no evidence for the presence of
dangerous levels of slippage. In its final report. the Massa Commission accepted Dr.
Ruiq’s evidence and cleared him of responsibility for the disaster.
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61-

62-

63-

64-

65-

66-

67-

Which of the following statements is true?

1) It took a decade for The Massa [Dam to be completed.

2) The Massa Dam was solely built to provide electricity.

3) The engineers still regard the Massa Dam as the greatest engineering achievement of
the 20th century.

4) To everyone's disappointment. the Massa Dam collapsed in less than 10 minutes.

Which of the following did the Massa commission of enguiry recommend?

1) Abutment sizes should be doubled.

2) Accurate geological surveys should be carried out before dam construction.

3) The rate of acceleration from creep to landslide can be very rapid.

4) More drastic reductions in reservoir elevations should be made in the event of an
imminent collapse.

Between the dam’s ecompletion and its collapse the site showed a(n) --——--—-—-——-—-—- rate of
slippage.
1) decreasing 2) constant 3) variable 4) accelerating

Which of the following statements is true?

1} Dr. Ruig was completely ignorant of the Ryshkyvk dam tragedy.

2) The commission of enquiry found Dr. Ruig’s arguments convincing.
3) The commission of enquiry proved that Dr, Ruiq was guilty.

4} There was evidence of the presence of dangerous levels of slippage at the Massa site.
Which of the following is the most suitable title for this passage?

1) The Massa Dam's Disaster

2) The Ryshkyk Tragedy

3) The Massa Dam Enquiry Findings

4) The Most Devastating 20th Century Catastrophes

What does the word “unforeseen™ in line 2 mean?

1) Unfortunate 2) Unexpressive  3) Unexpected 4) Unfavorable
What does the word “obliterated™ in line 13 mean?

1) Balanced 2) Aftected 3) Destroyed 4) Trembled
PASSAGE 4:

Since antiguity. the devastating effects of earthquakes on human lives and property have
encouraged the search for reliable methods of earthquake prediction. This challenge
remains and contemporary seismologists continue to seek reliable methods for
pinpointing the time, place and magnitude of individual quakes.

One prediction technique involves an analysis of the recurrence rates of earthquakes
as indicators of future seismic activity. Earthquakes are concentrated in certain areas of
the world where tectonic plates such as the Pacific Plate, the Eurasian Plate and the
African Plate meet and create fault zones and it is in these areas that seismologists focus
their investigations.

The plate tectonics model provides another tool for earthquake prediction by
calculating the accumulated strain at plate boundaries. When the strain reaches a certain
magnitude the pressure must be released and it is therefore hyvpothesized that in such
cases an earthquake is imminent.

The search for premonitory phenomena has received particular attention. In contrast
to the ancient Greeks and Romans, who relied on the howling of dogs as a warning sign,
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modern seismologists have focused on physical evidence for an impending earthquake.
Evidence of plate strain can be found by measuring relative movements in geodetic
stations, while chemical changes also offer signals for seismologists. Using chemical-
detection techniques. Professor Ulomov established a link between the rise in the
concentration of radon gas in mineral water in the Tashkent Basin and the subsequent
earthquake in 1966.

Analysis of the changes in magnetic properties and conductivity of rocks provides
further data for prediction. The electrical and magnetic properties of crustal rocks are
particularly sensitive to strain and studies measuring changes which occur in these
properties have provided promising resulis. The conductivity of crustal rock is
determined by the degree to which the rock is saturated with fluid and the electrolytic
properties of those fluids. Before large earthquakes, small fractures develop in rocks,
which changes the quantity of fluid present. These changes can be measured and provide
useful predictive data. However, similar changes in the fluid-bearing capacity of rock
can oceur as a result of other factors such as changes in the water table, and therefore
this technique is not entirely reliable.

The ancient belief that the behavior of birds, cats and dogs provides evidence of
imminent earthquakes has recently gained credence as a result of tests carried out in
California. It has been shown that changes take place in the metabolic rates of these
animals which correlate with subsequent seismic activity. It is hypothesized that the
animals are sensitive to the seismic waves which precede major quakes.

In zones where earthquakes are known to occur, improved construction techniques
can significantly reduce the effects of seismic waves. If more accurate information
regarding the time and magnitude were available, governments could take even more
effective measures to reduce the impact on human life. If. however, an entirely accurate
prediction technique became available. there would be significant social and political
implications. An earthquake prediction in a major urban area. for example, would
require governments to provide an effective evacuation strategy. necessitating massive
resourcing and political will.

68- According to the passage, which of the following statements is true?
1) Governments do not wish earthquakes to be predictable as accurately as possible.
2) Human lives depend on the time and magnitude of earthquakes.
3) Advanced construction methods could lessen seismic waves.
4) The author implies that prior knowledge about an earthquake to occur in densely-
populated cities could cause both political and social chaos t.
69-  According to the passage, which of the following statements is true?
1) The passage considers animals’ reaction to seismic waves a highly viable prediction
strategy.
2) New scientific findings tend to support the Greeks and Romans' reliance on animal
behavior as a prediction method.
3) Changes in metabolic rate of certain animals occur prior to earthquakes of any
magnitude.
4) One can imagine that tests on animals' behavior were clearly not inspired by the
Greeks and Romans beliels.
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70-

71-

72-

73-

74-

76-

77-

78-

79-

8-

What is the most appropriate title for this passage?

1) Earthquake Destruction

2) Earthquake Prediction

3) Physio-Chemical-Detection Techniques in Earthquake Prediction
4) Premonitory Phenomena in Earthquake Prediction.

Which one is NOT synonymous with the word “pinpointing™ in line 47

1) Discovering 2) Corresponding  3) Identifving 4) Locating
What does the word “*meet” in paragraph 2 mean?

1) Collide 2) Correlate 3) Collocate 4) Collaborate
How many lines of evidence are presented for earthquake prediction?

1)4 2)5 3)6 47

Which one is correct according to the passage?

1) The Tashkent 1966 earthquake was predicted.

2) During the 1966 Tashkent earthquake fluctuation in radon gas was detected.

3) Geodetic stations are less likely to be sited at or ¢lose to plate boundaries.

4) It is unequivocally stated that for earthquake prediction seismologists currently rely
on measuring relative movements along plate boundaries.

What does the word “impending” in paragraph 4 mean?

1) Distant 2} Imminent 3) Enormous 4) Unlikely

Which statement is supported by the passage?

1) Modern seismology predicts earthquakes pretty accurately.

2) The passage excludes measuring accumulated strain at plate boundaries as a
premonitory criterion.

3) It 1s evident that strain accumulation does not necessarily cause an earthquake to
happen.

4) Modern seismology applies the same methods in earthquake prediction as the Greeks
and Romans did.

What does the word “credence” in paragraph 6 mean?

1} Availability 2) Accessibility 3) Credibility 4) Flexibility

Which of the following statements is true?

1) It is explicitly stated that tremors are natural phenomena with exact recurring rates.

2) It 1s implied that past earthquake activity patterns of an area are of no value in
carthquake prediction.

3) Seismologists are very much interested in plate junctions as earthquake-prone arcas.

4) It can be concluded that no intra-plate earthquake ever occurs.

Which of the following statements is true?

1) The passage implies that as yet seismologists have had no success whatsoever in
earthquake prediction.

2) The challenge to find reliable methods of earthquake prediction is not current any longer.

3) The search for reliable methods of earthquake prediction has been prompted by loss
of lives per se.

4) Devastating effects of tremors have triggered the quest for reliable methods of
earthquake prediction to be found.

What does the word “precede”™ in paragraph 6 mean?

1) Preface 2) Postpone 3) Postdate 4) Pursue
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